

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water

STE #300

Wichita, KS 67202



Invoice Date: Sep 30, 2013

Page:

1

Now Includes:



Customer/ID	Field Ticket #	Payment	Terms
Murfin	61141	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Sep 30, 2013	10/30/13

Quantity	Item	Description	Unit Price	Amount
And Superior Control	17 () () () () () () () () () (Zodrow #1-26		
170.00	CEMENT MATERIALS	Class A Common	17.90	3,043.00
6.00	CEMENT MATERIALS	Chloride	64.00	384.00
178.49	CEMENT SERVICE	Cubic Feet	2.48	442.66
370.35	CEMENT SERVICE	Ton Mileage	2.60	962.91
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
45.00	CEMENT SERVICE	Pump Truck Mileage	7.70	346.50
1.00	CEMENT SERVICE	Swedge Manifold Rental	275.00	275.00
1	CEMENT SERVICE	Light Vehicle Mileage	4.40	198.00
	EQUIPMENT OPERATOR	Paul Beaver		
1.00	EQUIPMENT OPERATOR	Tyler Flipse		
]	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2,507.51

ONLY IF PAID ON OR BEFORE Oct 25, 2013

Subtotal	7,164.32
Sales Tax	279.30
Total Invoice Amount	7,443.62
Payment/Credit Applied	
TOTAL	7,443.62



ALLIED OIL & GAS SERVICES, LLC 061141 Federal Tax 1.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092	SERVICE POINT:
0 0 0 11221120, 127210 70072	Dakley KS
DATE 9/30/13 SEC. TWP. RANGE 29 C.	ALLED OUT ON LOCATION JOB START JOB FINISH 5:00 pm. 6:30 pm.
LEASE Zodrow WELL# 1-26 LOCATION Selden	COUNTY STATE
OLD OR NEW (Circle one)	ZE 143 12E Sheridan RS
OLD OR NEW (Circle one) 5 into	
CONTRACTOR MURLINZ TYPE OF JOB SURFACE	owner Same
HOLE SIZE 12 14 TD 221	CEMENT .
CASING SIZE 8 5/6 DEPTH 2 21	AMOUNT ORDERED 170 SKS (om 3% CC
TUBING SIZE DEPTH	AMOUNT ORDERED 110 325 COW 5/0 CC
DRILL PIPE DEPTH	
TOOL DEPTH	
PRES. MAX MINIMUM	COMMON 170 SKS @ 17.90 3043.00
MEAS. LINE SHOE JOINT	POZMIX @
CEMENT LEFT IN CSG. 15	GEL @
PERFS.	CHLORIDE 65K5 @ 64.00 384.00
DISPLACEMENT 13.12 bb/ water	ASC@
EQUIPMENT	@
~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	@
PUMPTRUCK CEMENTER Paul Beaust	@
	@
# 10 HELPERT FLOSE BULK TRUCK	@
# 600 DRIVER Alex (TWS)	@
BULK TRUCK	@
# DRIVER	
77.7	HANDLING 17849 ++3 @ 2.48 442.66
	MILEAGE 8.23 Fon 4 45 4 7.60 962.91
REMARKS:	TOTAL 4832.57
mix 170 sks (om 3% CC	10.10
Displace with water	SERVICE
Ciment did circulate	
	DEPTH OF JOB 221
	PUMP TRUCK CHARGE 1512.25
	EXTRA FOOTAGE @
Than	MILEAGE MIHV 45 @ 7.70 346.58
- Vary	MANIFOLD Swedge @ 275.00
100	MILU 45 @ 4.40 198.00
0 > 11 0	@
CHARGETO: Murtin Drillin Co. LIC	
STREET	TOTAL 2 331.75
STREET	
CITYSTATEZIP	
	PLUG & FLOAT EQUIPMENT
	@
	<u> </u>
To: Allied Oil & Gas Services, LLC.	@
You are hereby requested to rent cementing equipment	<u> </u>
and furnish cementer and helper(s) to assist owner or	@
contractor to do work as is listed. The above work was	
done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read and understand the "GENERAL	
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
	TOTAL CHARGES 7,164.32
DDINTED MANG A	750-51
PRINTED NAME ATING Colleges SIGNATURE Adora C	DISCOUNT 2, 507.51 IF PAID IN 30 DAYS
. /	4,656.80 Net
SIGNATURE Lotoro C.	16.30, 00 IVET.



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

INVOICE

Invoice Number: 139127

Invoice Date: Oct 6, 2013

Page:

1

Now Includes:



Customer ID	Field Ticket#	Payment	Terms .
Murfin	61120	Net 30 D)ays
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Oct 6, 2013	11/5/13

Quantity	Item.	Description	Unit Price	Amount
1.00	WELLNAME	Zodrow #1-26		
160.00	CEMENT MATERIALS	Class A Common	17.90	2,864.00
110.00	CEMENT MATERIALS	Pozmix	9.35	1,028.50
10.00	CEMENT MATERIALS	Gel	23.40	234.00
66.00	CEMENT MATERIALS	Flo Seal	2.97	196.02
289.98	CEMENT SERVICE	Cubic Feet	2.48	719.15
522.64	CEMENT SERVICE	Ton Mileage	2.60	1,358.86
1.00	CEMENT SERVICE	Plug to Abandon	1,250.00	1,250.00
45.00	CEMENT SERVICE	Pump Truck Mileage	7.70	346.50
45.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	198.00
1.00	EQUIPMENT SALES	8-5/8 Wooden Plug	202.41	202.41
1.00	CEMENT SUPERVISOR	Kelly Gabel		
1.00	EQUIPMENT OPERATOR	Wayne McGhghy		
		016.00		
		(11)		
				_ =
		Subtotal		9 207 44

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,939.10

0 04%

ONLY IF PAID ON OR BEFORE
Oct 31, 2013

Subtotal	8,397.44
Sales Tax	684.39
Total Invoice Amount	9,081.83
Payment/Credit Applied	
TOTAL	9,081.83

ALLIED OIL & GAS SERVICES, LLC 061120 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092				SERVICE POINT:				
SOUTH	ILAKE, T	EXAS 7609	92		Oakley, Kes			
· · · · · · · · · · · · · · · · · · ·	,					10-7-13	11.5010	
DATE 10-6-13	SEC.	TWP	RANGE	CALLED OUT	ON LOCATION	JÓB START	JOB FINISH	
DATE / C/C/	36		29	1	10:00 PM	2:00AM	2:30 A/1	
LEASE Zadfow	WELL#	1-26	LOCATION TO THE	C 1 2 8 3 %	15 15 8	COUNTY'	STATE	
OLD OR NEW Ci	rele one)			* 13 7 11 (1		151161.63	h-15-5-	
ODD OWNER NOT	icio oney	 -	L	···			•	
CONTRACTOR	Music	S	2	Ottobara mer-				
TYPE OF JOB	76 A	<u> </u>	<u> </u>	OWNER 30	me			
	7/8		11624	-				
HOLESIZE 7	-/ <i>T</i>		4530	CEMENT	_			
CASING SIZE		DEP		_ AMOUNT ORE	DERED 220	5K5 60/	40 POZ	
TUBING SIZE		DEP		<u> 4/70,90.1</u>	火井下后	-5eq		
DRILL PIPE		DEP		- 				
TOOL		DEP			•	~~		
PRES. MAX			IMUM	_ COMMON	160 55	Z@ 122	286400	
MEAS, LINE		SHQ	E JOINT	_ POZMIX	110 5/4	s @ <u>G 35</u>	-102850	
CEMENT LEFT IN	CSG.			_ GEL	105/5	C @ 23 3 20	-23400	
PERFS.				_ CHLORIDE		@		
DISPLACEMENT			,	ASC		@		
	EOU	IPMENT		Clo-SEO	1 664	@ 287	19402	
	200				· · · · · · · · · · · · · · · · · · ·		4-1-	
D114 ID MO1101	~~~	1/1		_				
PUMPTRUCK	CEMENT	EK TREI	ix Stabel	-				
# <i>4/22</i>	HELPER	Ways	ETTOPICA	4	,,, , ,,,,, ,			
BULK TRUCK		• •	, U	'				
#3964306	<u>driver,</u>	Juan(Tw5)					
BULK TRUCK					•			
#	DRIVER			HANDLING ?	89.98cuA		210 5	
				THE GYODING	17.100x4	1 2 2	12/2/37	
	Y- 17-1	ALDEO.		MILEVOE TE	TAL TO DE A			
		MARKS:			•	TOTAL	6400	
GOT +010	ipox	و کر در م	iletx mecil	ing.				
A Service A Live								
7.7356.000	12.m	∞ Δ Ce	mon + Plugs	¥0	SERVI	CE		
V Splace	(1-1017)	ce d Ce	mootshys Hetxmeet	Ŧ <u> </u>	SERVI	ICE	•	
800 4468	<u>, </u>	ce d Ce	mon+shys			(CE	414168	
800 4468	<u>, </u>	∞ d Ce	men+Rhgs	DEPTH OF JOI	B	(CE	4468	
0 3219ce 0 500 4468 250 2500)		mov-tsmar	DEPTH OF JOI	BCHARGE		4468 125050	
0 3219ce 0 500 4468 250 2500)			DEPTH OF JOI PUMP TRUCK EXTRA FOOT	B CHARGE AGE	_@	4/4/68 125050 24/1.50	
250 2500 250 2500 250 2500 100 @1660 40 @ 270	` 3⊌₽H.a	80M H		DEPTH OF JOI PUMP TRUCK EXTRA FOOTA MILEAGE	BCHARGE AGE \HV' 456	_@ <u></u> _@	4/4/68 125000 34/650	
0 3219ce 0 500 4468 250 2500	` 3⊌₽H.a	80M H	Mank You	DEPTH OF JOH DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD	B CHARGE AGE \HV ['] せか	@	346 59	
250 2500 250 2500 250 2500 100 @1660 40 @ 270	` 3⊌₽H.a	80M H		DEPTH OF JOI PUMP TRUCK EXTRA FOOTA MILEAGE	B CHARGE AGE \HV' <i>共ち</i> か	@ @ @	4/4/68 1250 CC 34/6 50 198 CC	
100 40/m	Dibec bl	гомн ug		DEPTH OF JOH DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD	B CHARGE AGE \HV ['] せか	@	346 59	
250 2500 250 2500 250 2500 100 @1660 40 @ 270	Dibec bl	гомн ug		DEPTH OF JOH DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD	B CHARGE AGE \HV ['] せか	@ @ @ @ @	1250 SE 346 59 198 SE	
500 -1468 250 2500 250 2500 40 @ 270 10 0 40/m (CHARGE TO: _/	Dibec bl	гомн ug		DEPTH OF JOH DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD	B CHARGE AGE \HV ['] せか	@ @ @ @ @	346 59	
100 40/m	Dibec bl	гомн ug		DEPTH OF JOH DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD	B CHARGE AGE \HV ['] せか	@ @ @ @ @	1250 SE 346 59 198 SE	
500 -1468 250 2500 250 2500 40 @ 270 10 0 40/m (CHARGE TO: _/	Marf Marf	zoMH ug iN		DEPTH OF JOI PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD MILE V	BCHARGEAGEAMV' H.5h	@	1250 SE 346 50 198 SE 1794 50	
# 3 Place 0	Marf Marf	zoMH ug iN	Thank Yo Willy & Mew	DEPTH OF JOI PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD MILE V	B CHARGE AGE \HV ['] せか	@	1250 SE 346 50 198 SE 1794 50	
# 3 Place 0	Marf Marf	zoMH ug iN	Thank Yo Willy & Mew	DEPTH OF JOI PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD MILE V	BCHARGEAGEAMV' H.5h	@	1250 SE 346 50 198 SE 1794 50	
# 3 Place 0	Marf Marf	zoMH ug iN	Thank Yo Willy & Mew	DEPTH OF JOI PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD MILE V	BCHARGEAGEAMV' H.5h	@	1250 SE 346 50 198 SE 1794 50	
# 3 Place 0	Marf Marf	zoMH ug iN	Thank Yo Willy & Mew	DEPTH OF JOH PUMP TRUCK EXTRA FOOT MILEAGE A MANIFOLD MILL V	B_CHARGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_A	0 772 0 772 0 440 0 TOTAL	1250 SE 346 50 198 SE 1794 50	
# 3 Place 0 # 500 -1468 250 2500 100 0 1060 100 0 40/6 8 CHARGE TO:	35RH = BiperPl Mair ST	ROMH ug in	Thank Yo Willy & Mew	DEPTH OF JOH PUMP TRUCK EXTRA FOOT MILEAGE A MANIFOLD MILL V	BCHARGEAGEAMV' H.5h	0 722 0 722 0 440 0 TOTAL TEQUIPMEN	1250 SE 346 50 198 SE 1794 50	
## 15 15 15 15 15 15 15 15	35 RH = Diper Pl M all C ST Gas Servi	ROMH ug NATE	Silvank Yo Pelly & New ZIP.	DEPTH OF JOH PUMP TRUCK EXTRA FOOT MILEAGE A MANIFOLD MILL V	B_CHARGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_A	0 772 0 772 0 440 0 TOTAL	1250 SE 346 50 198 SE 1794 50	
## 15 15 15 15 15 15 15 15	32 RH = Diper Pl Mai T ST Gas Service quested t	ATE	Thank Yo Polly & New ZIP.	DEPTH OF JOH PUMP TRUCK EXTRA FOOT MILEAGE A MANIFOLD MILL V	B_CHARGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_A	0 7.22 0 7.22 0 440 0 TOTAL TEQUIPMEN 0 20241	1250 SE 346 50 198 SE 1794 50	
CHARGE TO: To: Allied Oil & You are hereby re and furnish ceme	Sas Service quested to nter and to	ATE	ZIP.	DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE AV MANIFOLD	B_CHARGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_A	0 7.22 0 7.22 0 440 0 TOTAL TEQUIPMEN	1250 SE 346 50 198 SE 1794 50	
CHARGE TO: _/ STREET To: Allied Oil & You are hereby re and furnish ceme contractor to do w	Gas Servicquested to nter and to work as is	Ces, LLC. o rent cern relper(s) to listed. The	ZIP.	DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE AV MANIFOLD	B_CHARGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_A	0 72-0 772-0	1250 SE 1250 S	
CHARGE TO: To: Allied Oil & You are hereby re and furnish ceme	Gas Servicquested to nter and to work as is	Ces, LLC. o rent cern relper(s) to listed. The	ZIP.	DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE AV MANIFOLD	B_CHARGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_AGE_A	0 72-0 772-0	1250 SE 346 50 198 SE 1794 50	
CHARGE TO: _/ STREET CITY To: Allied Oil & You are hereby re and furnish ceme contractor to do we done to satisfaction.	Gas Servicquested to nter and is work as is on and su	ces, LLC. o rent cerr nelper(s) to listed. The	ZIP. ZIP. zip. zip. zip. zip.	DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD M'L V	BCHARGEAGEAL5 PLUG & FLOA	0 72-0 772-0	1250 SE 1250 S	
CHARGE TO: _/ STREET CITY To: Allied Oil & You are hereby re and furnish ceme contractor to do we done to satisfactic contractor. I have	Gas Servicquested to nter and is work as is on and sue read and	ATE	ZIP. ZIP. ZIP. ZIP. ZIP. ZIP. ZIP. ZIP. de above work was of owner agent or and the "GENERAL	DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD MILEAGE	BCHARGEAGEAL5 PLUG & FLOA	0 72-0 772-0	1250 SE 1250 S	
CHARGE TO: _/ STREET CITY To: Allied Oil & You are hereby re and furnish ceme contractor to do we done to satisfactic contractor. I have	Gas Servicquested to nter and is work as is on and sue read and	ATE	ZIP. ZIP. zip. zip. zip. zip.	DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD MILEAGE	CHARGEAGEAHV' H.5. PLUG & FLOA FLO and opt	0 72-0 772-0	1250 SE 1250 S	
CHARGE TO: _/ STREET CITY To: Allied Oil & You are hereby re and furnish ceme contractor to do w done to satisfactic contractor. I have TERMS AND CO	Gas Service quested to the and is to the and such as is to the and and such as is to the and and the and	ATE	ZIP. ZIP. ZIP. ZIP. denting equipment of assist owner or the above work was of owner agent or and the "GENERAI on the reverse side	DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD MILEAGE	CHARGEAGEAHV' H.5. PLUG & FLOA FLO and opt	0 7.72 0 7.72 0 7.70 0 7.70 TOTAL	1250 00 00 00 00 00 00 00 00 00 00 00 00 0	
CHARGE TO: _/ STREET CITY To: Allied Oil & You are hereby re and furnish ceme contractor to do w done to satisfactic contractor. I have TERMS AND CO	Gas Service quested to nter and is on and sue read and DNDITIO	ATE	ZIMONE YES	DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD MILEAGE	CHARGEAGEAHV' H.5. PLUG & FLOA FLO and opt	0 7.72 0 7.72 0 7.70 0 7.70 TOTAL	1250 00 00 00 00 00 00 00 00 00 00 00 00 0	
CHARGE TO: _/ STREET CITY To: Allied Oil & You are hereby re and furnish ceme contractor to do w done to satisfactic contractor. I have TERMS AND CO	Gas Service quested to nter and is on and sue read and DNDITIO	ATE	ZIMONE YES	DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD MILEAGE MANIFOLD MILEAGE MILEAGE MANIFOLD MILEAGE MILEA	CHARGE	0 722 0 722 0 490 0 TOTAL TEQUIPMEN 100 202 41 100 TOTAL 1695	1250 = 12	
CHARGE TO: _/ STREET CITY To: Allied Oil & You are hereby re and furnish ceme contractor to do w done to satisfactic contractor. I have TERMS AND CO	Gas Service quested to nter and is on and sue read and DNDITIO	ATE	ZIMONE YES	DEPTH OF JOH PUMP TRUCK EXTRA FOOTA MILEAGE A MANIFOLD MILEAGE MANIFOLD MILEAGE MILEAGE MANIFOLD MILEAGE MILEA	CHARGE	0 7.72 0 7.72 0 7.70 0 7.70 TOTAL	1250 = 12	